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Jll FOtE A= Ee: 4,720 R, G20 A900
= 4,720 R, B0 A900
10 dASHEAES 9, 440 11,240 A1.800
o Q2SN E ST B 2 SEIS HH|==
ik 22 180,008 + 35z G, 300 g, 1010 A1.800
= 3,150 4, 050 A900
= 3,150 4, 040 A900
5,000 3,000 2,000
307 Q17K F T 2,500 1,500 1,000
= 2,500 1,510 1,000




B H20| 28
Ha: o2 3 HAKL 29
Chol: AZSTAY (EHS: H8))
SA -39 - T3RE0) - HIFAR - TS 0fl £ 2134 HlmZ2f
EEEEETT 5,000 3,000 2,000
o OAZSHIZ I 2 MHI-SH2
20,0008 + 502 + 23] 2,000 0 2,000
= 1,000 i 1,000
= 1,000 i 1,000
1,260 21 1,0
a05 R SH = Bl 1l Zll
2 630 130 5]
0 A EEHSH 1,260 260 7,000
o LOFVENTRIH 2T ATH I
S 1,000,008 + 1CH 1,000 0 1,000
= 51 i il
2 51 i il
13,600 13, 602 A2
FIOREH 27 = 6, 845 6. 646 Al
2 6., 845 6, 86 Al
300 T2 A2
405 RHAHE SH) 2 150 151 Al
= 150 15| Al
0 AHIEEHSH 30 30 A2
o FIOREH 27| FHHEH 2L
ZE 30,0008 + 1H 30 gl A2
2 150 151 Al
= 150 15 Al
311,207 306, 720 4,487
2 155, 182 154, 543 giid
ZTp2ABI| AL - il o ]
= 1,27 107, 129 4,09
137,558 13, 564 4,000
ZII2ATAL ! e i :
T 19,907 19,507 i
= 51, 566 47,55 4,000
FE 7,018 3,000
2 487 87 i
201 e L - i ’
= 4,385 1,535 3,000
01 AFRERIH 5,018 2,018 3,000
o THEE 0BARY TR
10,0008 + 505 + 15 500 0 50
o 2T TEE HE
5,005 + 4002 + 12 2,000 0 2,000
o 2= TR 0|88 00,0008 + 23] 200 0 2100
o U= 20BARISE U B AR
=L 100,000 + 32 + 13 30 0 00




P BHY = A
= 258 I HAHN AL 2

Chol . 2D A

SH B SHED) - HISPAKY . HAE Ao o 2t
a0 Yk 42 1,000 0 1,000
10 #HALHE S 1,000 0 1,000
o UESANY H252 L 05 W
10,0008 + b 1,000 I 1,000
B.50Y G, 20 457
MO S| YRIBTEC 2 5, 204 4,815 38
- 1,303 1,05 55
G,336 .44 47
307 D20 A = b, 067 4,678 38
o 1,269 1,171 =
01 ZEFRLA=H b3 h. 549 437
o d0H HOEET) HZFCH
22 6,86 + BE EN L] 1,973 7
= 1,640 1.5 G1
= 410 o 16
o 166 HIFEH St HZFCH)
41,00 + 10 410 I 410
acn I acn
= 5 0 o
EAH EAE 01,673 i g 2 F9.2%
Ol=<d & 2h, 175 A, S50 b, 20
201 ZEE=ZH| 9,075 h, 850 3,285
02 ===ZH| 7.5 4, 35 3,225
<BTRZ L HA > i 0 0
o DISATEE 2 2T Smws 7.5% 0 3,225
- SAMH = =22 BH + &, 0000 .67 1,500 375
-E=s3E 23 193 + 3, 0000 b, 70 2, 55l 2,850
405 FHAHE SH 2,000 0 2,000
01 AR EEFSHI 2.0 I 2,000
o AZATE LES I
2, 00,000 - 10H 2, 0 0 2,000
ZHAR 2 (A 21 ) 150,170 955,120 hd, 5]
307 DI2H)| 150,170 &, 1200 54, 050
01 2R L= 150,170 96, 120 4,050
o S|EHVAIOE HIATSE HIF
150,000 + 200H 2 a1, 050 0 31,050
o HMJZE 40E HE
BO,000E + Z50M + 23 24, 0 I 23,000
HEZZIH(EAZEH) arl.446 aha, 670 17,76
JEEHIEAZEH ) oo, 446 om0, 670 17,74
EETCERES 248,342 240, 256 3,0%
201 LHEZ Y| 161,017 152, 561 o, 056
02 Z==ZH| 107,150 99,0% a.,056




SM BEAY=H
== HEFEIH I(EEEIE-EII
CHel: JIEEHI(EAZIEH ) (CHE i E )
A - - HREIHD - HIFARY - BES 0fl £ 2139 HlmSZ!
o dx)| 2z
& b0.000E + 5 + 128 3,0 1,56 1,416
o #HHANEANsL HIES
00,0002 + 3= + 7& 2,100 0 2,100
o BANE - AMNEBINEM =B
W, 008 + 14 + 23] 1,540 0 1,540
o FFAUEANS & RS
R0, 000 + 22 + 533 3,00 0 3,000
JIE8H| (EadtE) 13,540 16, 440 2,400
202 HH| 11,5840 9, 440) 2,400
01 =LHHH] 11,540 9, 440 2,400
o SEIZ AZEEH AME =&
20,0002 « 23 + G0 2,400 0 2,400
A =2HI(E AR =) 7,130 B3, 810 7,520
201 LHEZ S H| G1.200 Fh, G600 b, 340
02 ZZ=ZH| 41,4% 36, 155 5,340
o B3 23 165D + THa + 123 13,740 g, 400 5,340
202 H| 9,930 7. 560 1,980
01 =LHHH] 9,941 7,950 1,980
o 2T OSHaME FH
10,003 « 1N + 15& 1,950 0 1,980




